
MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

1

Quickie Q400
Spare Parts

SPARE 
PARTS 
GUIDE 

MEDIFAB.COM

Version 1, July 2022



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

2

Contents
Base	 4

Suspension	 4

Motors	 6

Drive Wheel	 8

Castors	 9

Shrouds	 9

Mudguards	 9

Colour Accent Kit	 10

Tilt & Lift Cassette	 10

Assembly	 10

Parts	 10

Sedeo Lite Seating	 11

Seat	 11

Back	 12

Standard Arm Rest Assemblies	 13

Standard Armrest Pads	 14

Comfort Gel Armrest Pad	 15

Comfort Foam Armrest Pad	 16

Gel Trough Armrest Pad	 17

2 Pt Armrest Lock	 17

Armrest Mounting Parts	 17

Side Guards	 18

Angle Adjustable Centre Mount Footplate	 19

Fixed Centre Mount Adj Footplates	 20

Fixed Centre Mount, Fixed Footplate	 21

Swingaway Hanger	 22

Swingaway Hanger Mount	 22

Swingaway Hanger Footplates	 23



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

3

Accessories	 23

Knee Pads	 23

Headrests	 24

Joystick	 25

VR2	 25

Mounts	 26

Attendant	 27

Accessory Electronics	 28

Programmer	 28

Battery Harness	 29

Wiring	 29



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

4

1600-241249 

Base

Quickie Power, Q400M Front Right Caster Arm Assembly 
with Bearings

1600-161941

Quickie Power, Q400M Front Left Caster Arm Assembly 
With Bearings

1600-161942

Suspension

Quickie Power, Q400M Midlink Front Pivot Kit 

1600-252365

Quickie Power, Q400M Suspension Arm Bearing

1600-101686

Quickie Power, Q400M Base Assembly; Includes Frame, 
Suspension, Casters, Drive Wheels and Motors.



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

5

Quickie Power, Q400M  Fornt Suspension Kit With Hardware: 
For one side Only

1600-163317

Quickie Power, Q400M Suspension Front Stop kit for one side

1600-161940

Quickie Power, Q400M Rear Caster Arm Right Side with 
Bearings

1600-161943

Quickie Power, Q400M Rear Caster Arm Left Side With 
Bearings

1600-161944

Quickie Power, Suspension Midlink Kit, includes Link Bar and 
Hardware

1600-161939

M6 RUBBER 
BUMPER

M6 RUBBER 
BUMPER 
LONG

RUBBER BUMPER KIT

Quickie Power, Q400M Rubber Bumper Kit, Includes 4 Rub-
ber Bumpers & Nuts

1600-161945



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

6

BASE BUSHING KIT

DESCRIPTION

BEARING GFM 1214-09

QTY

2

WASHER MIDLINK M10

BEARING GSM 2022-08

BEARING GFM 1820-12

BEARING GFM 1820-45 
DEG

2

2

4

4

BEARING GFM 1214-07 2

12MM OILES FLANGED
BUSHING

2

Quickie Power, Q400M Bushing Kit For Pivot Points on 
One Side

1600-161947

BASE FASTENER KIT

PLAIN WASHER M12

HHCS M12X1.75X
88.5 NP

6

7

2

1

ITEM # DESCRIPTION QTYILLUSTRATION

SHCS M12X1.25X70 
PART PL

FLAT WASHER
22X8X2.6

8

10

1

2

SHCS, M8X1.25X20,
FULL,PL

11 2

SHAFT REAR PIVOT
NUT W/SHLDR

20 1

23

Quickie Power, Q400M Fasteners for Suspension Midlink 
on One Side

1600-161946

Quickie Power, Q400M Bumper Adaptor Kit; Including 2 
Bumpers, Adapters, Nuts & SHCS

1600-163669

Quickie Power, Q400M Motor Mounting Kit Right Side

1600-252369

Quickie Power, Q400M Motor Mounting Kit Left Side

1600-252370

Motors

M6 RUBBER 
BUMPER

M6 RUBBER 
BUMPER 
LONG

RUBBER BUMPER KIT

Quickie Power, Q400M Rubber Bumper Kit, Includes 4 Rubber 
Bumpers & Nuts

1600-161945



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

7

Quickie Power, Q400M 4 Pole 10 kph Motor Right Side

1600-250287

Quickie Power, Q400M 4 Pole 10 kph Motor Left Side

1600-250286

Quickie Power, 4 Pole Motor Brush Kit

1600-112281

Quickie Power, Q400M 4Pole Motor 3 Spoke Hub Kit

1600-161956

Quickie Power, Q400M 4 Pole Motor Brake Cover

1600-112283

Quickie Power, Q400M Clip, Wire Saddle

1600-124936



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

8

Quickie Power, Q400M 4 Pole Motor Brake Lever Set

1600-252367

Quickie Power, Q400M 13" Drive Wheel with 2.5" Knob-
by Black Dual Density (Solid) Tires Per Each

1600-243578

Quickie Power, Lug Nut Set (set of 3)

1600-161965

Drive Wheel

1600-126537

Quickie Power, Q400M 13" Knobby Dual Denisty (Solid) 
Tire Only, Per Each



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

9

Quickie Power, Q400M 7" Solid Castor and Fork Assembly ea

1600-247565

Quickie Power, Q400M 7" Castor with Hardware

1600-247566

Quickie Power, Q400M Standard Rear Shroud W/Hardware ______

Castors

Shrouds
Mudguards

Colours   Product Codes

1600-163578

1600-163810

1600-163811

1600-163812

1600-163813

1600-163814

1600-163815

1600-163816

Quickie Power, Q400M Main Shroud Assembly ______

Colours   Product Codes

1600-163174

1600-163761

1600-163762

1600-163763

1600-163764

1600-163765

1600-163766

1600-163767



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

10

1600-163327

Tilt & Lift Cassette
Assembly

Quickie Power, Sedeo Pro Tilt Actuator Only With 
Fasteners

1600-163476

Quickie Power, Sedeo Pro Lift Actuator Only With Fasteners

1600-163477

Parts

Quickie Power, Q400M Colour Accent Kit _____

Colour Accent Kit

Colours   Product Codes

1600-161948

1600-161949

1600-161950

1600-161951

1600-161952

1600 -161953

Quickie Power, Sedeo Pro Tilt/Lift Combi Seating Cas-
sette Complete Assembly with Fasteners



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

11

Quickie Power, Sedeo Pro Cassette Mounting Bolts 
M8*1.25*12

1600-248502

Quickie Power, Sedeo Pro Cassette Cable Track Incl 
mounting Fasteners

1600-20010137

Quickie Power, Sedeo Pro Seating Cable track Cover only 
Incl mounting Fasteners

1600-20010139

Quickie Power, Sedeo Pro Tilt/Lift Combo Harness 
Wiring

1600-248517

Quickie Power, Sedeo Seat Rail Caps, Pair

1600-22502018

Quickie Power, Sedeo Lite Seat Plate Assembly

1600-22802000

Seat
Sedeo Lite Seating



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

12

Quickie Power, Sedeo Lite Fixed Backrest Quick Re-
lease Lever Kit

1600-168121

Quickie Power, Sedeo Lite Backrest Receiver Cover, for use 
with Cantilever Arm

1600-168125

Back

Quickie Power, Sedeo LiteBack Headrest Mounting 
Bracket Cover

1600-168120

Quickie Power, Sedeo Lite Backrest Upholstery; Re-
quires M6x16 SHCS & M6 Washer

1600-22803050

Quickie Power, Sedeo Lite Back Canes Center Adjustment 
Bracket Narrow, 15-19" Wide

1600-168118

Quickie Power, Sedeo Lite Back Canes Center Adjustment 
Bracket Narrow, 15-19" Wide

1600-168119



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

13

Quickie Power, Sedeo Lite Backrest Frame Interface 
Non Folding

1600-22802001-001 1600-22802001-011

Quickie Power, Sedeo Lite Back Frame Assembly 
Standard Height, 15-19" Seat Width

1600-22803010-011 1600-22803010-012

Quickie Power, Sedeo Lite Cantilever Armrest Assembly 
Left Side

1600-22804010-001

Quickie Power, Sedeo Lite Cantilever Armrest Assembly 
Right Side

1600-22804010-002

Standard Arm Rest Assemblies

Quickie Power, Sedeo Lite Back Frame Assembly 
Standard Height, 18-20" Seat Width

Quickie Power, Sedeo Lite Backrest Frame Interface 
with Folding Bracket



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

14

Quickie Power, Sedeo Lite Cantilever Armrest Rail for 
Sedeo Lite Armpad

1600-22804061

Quickie Power Armpad Profile for Gel, Comfort and 
Standard

1600-22504042

Quickie Power, Sedeo Lite Cantilever Armrest Hardware 
Kit for Both Sides

1600-164257

Quickie Power, Sedeo Pro Standard Armrest Pad 30 LH

1600-163356

Quickie Power, Sedeo Pro Standard Armrest Pad 30 RH

1600-163357

Standard Armrest Pads



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

15

Quickie Power, Sedeo Pro Arm Pad 400 RHS

1600-163359

Quickie Power, Sedeo Pro Arm Pad 400 LHS

1600-163358

Quickie Power, Sedeo Large Standard Armrest Pad 45 RH

1600-163361

Quickie Power, Sedeo Large Standard Armrest Pad 45 LH

1600-163360

Quickie Power, Sedeo Pro Comfort 2" Wide Gel Arm Pad, 
Right Side

1600-163344

Quickie Power, Sedeo Pro Comfort 2" Wide Gel Arm Pad, 
Left Side

1600-163345

Comfort Gel Armrest Pad



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

16

Quickie Power, Sedeo Pro Comfort 4" Wide Gel Arm Pad, Left 
Side

1600-163347

Quickie Power, Sedeo Pro Comfort 4" Wide Gel Arm Pad, Right 
Side

1600-163346

Comfort Foam Armrest Pad

Quickie Power, Sedeo Pro Comfort 4" Wide Foam Arm Pad, 
Left Side

1600-163354

Quickie Power, Sedeo Pro Comfort 4" Wide Foam Arm Pad, 
Right Side

1600-163355

Quickie Power, Sedeo Pro Comfort 2" Wide Foam Arm Pad, 
Right Side

1600-163353
Quickie Power, Sedeo Pro Comfort 2" Wide Foam Arm Pad, 

Left Side

1600-163352



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

17

Quickie Power 2nd Attachment point for Cantilever 
Armrest LHS

1600-247172
Quickie Power 2nd Attachment point for Cantilever 

Armrest RHS

1600-247167

2 Pt Armrest Lock

Quickie Power, Sedeo Pro ____ Gel Trough Assembly ____ Side, 
________ "

Gel Trough Armrest Pad

Width

4.5" x 14.5"

4.5" x 14.5"

3.5" x 13"

Product Codes

1600-163350

1600-163351

1600-163348

Side

Left

Right

3.5" x 13" 1600-163349

Left

Large

Medium

Right

Large

Medium

Size

PRO AMREST ADAPTER (Adapter Plate)

1600-248518

M5X16 8.8 DPS NP

1600-103499-006

Armrest Mounting Parts



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

18

Quickie Power, Sedeo Pro Cable Clip, Used with 2 cables

1600-341220

Quickie Power, Sedeo Pro Cable Clip, Used with 1 Cable

1600-560794

Quickie Power, Sedeo Side Guard and Receiver Assembly 
Left Side

1600-22804030-001

Side Guards

Quickie Power, Sedeo Side Guard Plate Fasteners for 
One Side

1600-163441

Quickie Power, Sedeo Side Guard and Receiver Assembly 
Right Side

1600-22804030-002



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

19

Quickie Power, Sedeo Lite Angle Adjustable Center Mount 
Legrest 

1600-164260

Quickie Power, Sedeo Lite Angle Adjustable Center 
Mount Legrest Calf Plate Assembly

1600-22505115

Angle Adjustable Centre Mount Footplate

CLAMP NUT PROFILES 1

SHCS ISO4762  M6x12 8.8 DPS NP 2

WASHER ISO7093  6,4 A2 ZNS 2

SHCS ISO4762  M6x16 
12.9 DPS NP

1

WASHER ISO7089  6,4 A2 ZNS 2

HARDWARE KIT 

Quickie Power, Sedeo Lite Angle Adjustable Center Mount 
Legrest Hardware Kit

1600-253789

Quickie Power, Sedeo Lite Angle Adjustable Center 
Mount Footrest lower Assembly Including Footplate

1600-22505105

Quickie Power, Sedeo Lite Angel Adjustable Center 
Mount Footrest Adjustment Wheel Kit

1600-22505116

Quickie Power, Sedeo Lite Angle Adjustable Centre Mount 
Footrest Hardware Kit

1600-253788



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

20

B

"A"
SHORT 12.5"-14.5"
STD 14.5"-18.5"

MEASURING GUIDE
"B"

8"
10"

A

Quickie Power, Sedeo Lite Fixed Centre Mount Legrest, Indi-
vidual Footplates, Long Assembly

1600-253578

B

"A"
SHORT 12.5"-14.5"
STD 14.5"-18.5"

MEASURING GUIDE
"B"

8"
10"

A

Quickie Power, Sedeo Lite Fixed Centre Mount Legrest, Indi-
vidual Footplates, Short Assembly

1600-253579

Fixed Centre Mount Adj Footplates

Quickie Power, Sedeo Lite Fixed Centre Mount Legrest 
Square End Cap

1600-010615

Quickie Power, Sedeo Lite Fixed Centre Mount Footrest 
Mount Spacer

1600-107196

Quickie Power, Sedeo Lite Fixed Centre Mount Footrest Mount 
M8 Nut

1600-250106

Quickie Power, Sedeo Lite Fixed Centre Mount Footplate As-
sembly Only

1600-168266



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

21

MEASURING GUIDE

5”

7”

Quickie Power, Sedeo Lite Fixed Centre Mount Legrest Calf 
Pad Assembly Only

1600-22505027

B

"A"
SHORT 12.5"-14.5"
STD 14.5"-18.5"

MEASURING GUIDE
"B"

8"
10"

A

Quickie Power, Sedeo Pro/Lite Fixed Centre Mount Short

1600-163573

Quickie Power, Sedeo Pro/Lite Fixed Centre Mount Long

1600-163574

Fixed Centre Mount, Fixed Footplate

Quickie Power, Sedeo Pro/Lite Fixed Centre Mount Footplate 
Assembly

1600-101685

Quickie Power, Sedeo Pro/Lite Fixed Centre Mount, Calf Pad and 
Hardware

1600-103118

B

"A"
SHORT 12.5"-14.5"
STD 14.5"-18.5"

MEASURING GUIDE
"B"

8"
10"

A



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

22

Quickie Power, 70 Degree Swing-Away hanger RHS

1600-115167

Quickie Power, 70 Degree Swing-Away hanger LHS

1600-115168

Swingaway Hanger

MEASURING GUIDE

DESCRIPTION
SHORT
PLUS 1
LONG (+2”)

DIM “A”
4 5/8”
5 5/8”
6 5/8”

A

Quickie Power, Swing-Away Hanger Receiver Short Assembly 
RHS

1600-104780

Quickie Power, Swing-Away Hanger Receiver Short Assembly 
LHS

1600-104781

Swingaway Hanger Mount

MEASURING GUIDE

DESCRIPTION
SHORT
PLUS 1
LONG (+2”)

DIM “A”
4 5/8”
5 5/8”
6 5/8”

A

Quickie Power, Asap Style Hanger Receiver Mount Per each; To 
be ordered with 104780 or 104781

1600-122712



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

23

EXT TUBE MEASURING GUIDE

A

DIM "A" LEG LENGTH RANGE
SHORT 6.75" 13"-15.5"
MED 9.75" 15"-18"
LONG 11.75" 18"-20"
X-LONG 13.75" 20"-22"

Quickie Power, Asap Style Hanger Long Round Extension Tube 
and Hardware Only

1600-100211

Swingaway Hanger Footplates

1568-5154-14L
Quickie/Zippie Iris Front Mount Adult Angle Adjustable

 Footplate 14-15" Chair Left Hand Side

Adult Angle Adjustable Footplate Kit ______" ,  ____ side

Right

Width

14"-15"

14"-15"

16"-17"

Product Codes

1568-5154-14L

1568-5154-14R

1568-5156-17L

Side

Left

Right

16"-17" 1568-5156-17R

Left

Left

Right18"-20"

18"-20" 1568-5158-18L

1568-5158-18R

Accessories
Knee Pads

DIM A
4" PAD 4"

A

MEASURING GUIDE

Quickie Power, Sedeo Pro Rail Mounted Knee Support Assembly 
Right Side, With 4" Pad

1600-125582

DIM A
4" PAD 4"

A

MEASURING GUIDE

1600-125583

Quickie Power, Sedeo Pro Rail Mounted Knee Support Assembly 
Left Side, With 4" Pad



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

24

DIM A
4" PAD 4"

A

MEASURING GUIDE

Quickie Power, Sedeo Pro Rail Mounted Knee Sup-
port 4" Pad only

1600-KAD11XX

Quickie Power, Sedeo Pro Swingaway Amputation 
Support Right Side

1600-22505200-002

Quickie Power, Sedeo Pro Swingaway Amputation 
Support Left Side

1600-22505200-001

Headrests

Quickie Power, Sedeo Standard Headrest

1480-1010957

Quickie Power, Pro Back Headrest Moun

1480-248225



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

25

Quickie Power, Sedeo Headrest Mount

1480-21809210
Quickie Power, Sedeo-Axys Headrest Assembly

1480-245912

Quickie Power, Sedeo Linx Headrest Assembly

1480-245914

Quickie Power, Sedeo-Cobra Flip Headrest Assembly

1480-245915

Joystick
VR2

Quickie Power, VR2 Joystick 6 Button Complete

1600-105376



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

26

Mounts

Quckie Power, Sedeo Pro HC Retractable Joystick Mount 
Assembly Left Side

1600-163452

Complete Left and Right 
side assemblies. 
Right side is shown.

Quckie Power, Sedeo Pro HC Retractable Joystick Mount 
Assembly Right Side

1600-163451

Quckie Power, Sedeo Pro & Lite Round Tube Swingaway 
Joystick Mount Assembly Right Side

1600-120593

Quckie Power, Sedeo Pro & Lite Round Tube Swingaway 
Joystick Mount Assembly Left Side

1600-120594

Quickie Power, Sedeo Pro Round Joystick Mount Assembly

1600-164202

Quickie Power, Round Joystick Pro Mount Swingaway 
Assembly RHS

1600-164204

Complete Left and Right 
side assemblies. 
Right side is shown.



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

27

Quickie Power, Round Joystick Pro Mount Swingaway 
Assembly LHS

1600-164203
Quickie Power, Sedeo Pro & Lite HC Fixed Joystick 

Mount Right Side

1600-163449

Quickie Power, Sedeo Pro & Lite HC Fixed Joystick 
Mount Left Side

1600-163450

Attendant
1600-22809050-001 1600-22809050-002

Quckie Power, Sedeo Lite Attendant Control Mount and 
Palm Rest Assembly Left Side

Quckie Power, Sedeo Lite Attendant Control Mount and 
Palm Rest Assembly Right Side



MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

28

VR2 Attendant Controller with Cable

1600-102175

 
If you are needing any parts, Medifab are 
now credited to process Refurbs on any 
RNET technology. Please contact parts@
medifab.com with any questions

Joystick Repairs Now Available.

Accessory Electronics

Quickie Power RNET/VR2 HandHeld Programmer

1600-93-D50996

Programmer

mailto:parts%40medifab.com?subject=Joystick%20Parts
mailto:parts%40medifab.com?subject=Joystick%20Parts


MEDIFAB® - SPARE PART ORDERING GUIDE

WWW.MEDIFAB.COM      ORDERS@MEDIFAB.COM

29

Quckie Power, 15A Mini Fuse
1600-249005

Quickie Power, Battery Harness 100A Kit

1600-164136

Battery Harness

Quickie Power, Sedeo Pro Actuator Extension Cable 100cm

1600-21211005-100

Wiring

Quickie Power, Sedeo Pro Actuator Extension Cables 150cm

1600-21211005-150

Quickie Power, VR2 Joystick Extension Cable from Controller to 
Joystick

1600-101626



DISTRIBUTED BY: 

Quickie Q400M Spare Parts Guide 20220727AU

Distributed in NZ by Medifab Ltd

22 Detroit Drive, 
Rolleston, 7675  
New Zealand

0800 543 343

solutions@medifab.com

www.medifab.com


	Base
	Suspension
	Motors
	Drive Wheel
	Castors
	Shrouds
	Mudguards
	Colour Accent Kit

	Tilt & Lift Cassette
	Assembly
	Parts

	Sedeo Lite Seating
	Seat
	Back
	Standard Arm Rest Assemblies
	Standard Armrest Pads
	Comfort Gel Armrest Pad
	Comfort Foam Armrest Pad
	Gel Trough Armrest Pad
	2 Pt Armrest Lock
	Armrest Mounting Parts
	Side Guards
	Angle Adjustable Centre Mount Footplate
	Fixed Centre Mount Adj Footplates
	Fixed Centre Mount, Fixed Footplate
	Swingaway Hanger
	Swingaway Hanger Mount
	Swingaway Hanger Footplates

	Accessories
	Knee Pads

	Headrests
	Joystick
	VR2
	Mounts
	Attendant

	Accessory Electronics
	Programmer
	Battery Harness
	Wiring


